

$$(3) \quad A+B = 2A-B+D, \quad \text{so } D = 2B-A = \begin{bmatrix} 0 & 2 \\ 4 & 8 \end{bmatrix} - \begin{bmatrix} -1 & 2 \\ 0 & -3 \end{bmatrix} = \begin{bmatrix} 1 & 0 \\ 4 & 11 \end{bmatrix}$$

$$(15) \quad A = \begin{bmatrix} -1 & 0 & 3 \\ 2 & 1 & -4 \end{bmatrix}, \quad \text{so } A^T = \begin{bmatrix} -1 & 2 \\ 0 & 1 \\ 3 & -4 \end{bmatrix}$$

$$(21) \quad a) \quad AB = \begin{bmatrix} -1 & 0 \\ 1 & 2 \end{bmatrix} \begin{bmatrix} 2 & 3 \\ -1 & 1 \end{bmatrix} = \begin{bmatrix} -2 & -3 \\ 0 & 5 \end{bmatrix}$$

$$b) \quad BA = \begin{bmatrix} 2 & 3 \\ -1 & 1 \end{bmatrix} \begin{bmatrix} -1 & 0 \\ 1 & 2 \end{bmatrix} = \begin{bmatrix} 1 & 6 \\ 2 & 2 \end{bmatrix}$$

$$(28) \quad A: 3 \times 4 \quad B: m \times n \quad \begin{array}{l} a) \quad AB \text{ is defined when } m=4 \\ b) \quad BA \text{ is defined when } n=3 \end{array}$$

$$(31) \quad a) \quad AB = \begin{bmatrix} 1 & 3 \\ 0 & -2 \end{bmatrix} \begin{bmatrix} 1 & 2 & 0 & -1 \\ 2 & 1 & 3 & 0 \end{bmatrix} = \begin{bmatrix} 7 & 5 & 9 & -1 \\ -4 & -2 & -6 & 0 \end{bmatrix}$$

$$b) \quad B^T A = \begin{bmatrix} 1 & 2 \\ 2 & 1 \\ 0 & 3 \\ -1 & 0 \end{bmatrix} \begin{bmatrix} 1 & 3 \\ 0 & -2 \end{bmatrix} = \begin{bmatrix} 1 & -1 \\ 2 & 4 \\ 0 & -6 \\ -1 & -3 \end{bmatrix}$$

$$(33) \quad A = \begin{bmatrix} 2 & 1 \\ -1 & -3 \end{bmatrix} \quad \underline{A^2} = \begin{bmatrix} 2 & 1 \\ -1 & -3 \end{bmatrix} \begin{bmatrix} 2 & 1 \\ -1 & -3 \end{bmatrix} = \begin{bmatrix} 3 & -1 \\ 1 & 8 \end{bmatrix}$$

$$\underline{A^3} = AA^2 = \begin{bmatrix} 2 & 1 \\ -1 & -3 \end{bmatrix} \begin{bmatrix} 3 & -1 \\ 1 & 8 \end{bmatrix} = \begin{bmatrix} 7 & 6 \\ -6 & -23 \end{bmatrix}$$

$$\underline{A^4} = AA^3 = \begin{bmatrix} 2 & 1 \\ -1 & -3 \end{bmatrix} \begin{bmatrix} 7 & 6 \\ -6 & -23 \end{bmatrix} = \begin{bmatrix} 8 & -11 \\ 11 & 63 \end{bmatrix}$$

$$(39) \quad \begin{array}{l} 2x_1 + 3x_2 - x_3 = 0 \\ 2x_2 + x_3 = 1 \\ x_1 - 2x_3 = 2 \end{array} \quad \underline{Ax = b} \quad \text{where } A = \begin{bmatrix} 2 & 3 & -1 \\ 0 & 2 & 1 \\ 1 & 0 & -2 \end{bmatrix}, \quad x = \begin{bmatrix} x_1 \\ x_2 \\ x_3 \end{bmatrix}, \quad b = \begin{bmatrix} 0 \\ 1 \\ 2 \end{bmatrix}$$

$$(42) \quad \begin{array}{l} x_1 - 2x_2 + x_3 = 1 \\ -2x_1 + x_2 - 3x_3 = 0 \end{array} \quad \underline{Ax = b} \quad \text{where } A = \begin{bmatrix} 1 & -2 & 1 \\ -2 & 1 & -3 \end{bmatrix}, \quad x = \begin{bmatrix} x_1 \\ x_2 \\ x_3 \end{bmatrix}, \quad b = \begin{bmatrix} 1 \\ 0 \end{bmatrix}$$

$$(44) \quad \text{if } A = \begin{bmatrix} 2 & 3 & 1 \\ 5 & 2 & 3 \\ 1 & 2 & 0 \end{bmatrix} \quad \text{AND } B = \begin{bmatrix} -4/5 & 2/5 & 7/5 \\ 3/5 & -4/5 & -4/5 \\ 8/5 & -1/5 & -14/5 \end{bmatrix},$$

$$\underline{AB} = \begin{bmatrix} 1 & 0 & 0 \\ 0 & 1 & 0 \\ 0 & 0 & 1 \end{bmatrix} = \underline{I} \quad \text{AND } \underline{BA} = \begin{bmatrix} 1 & 0 & 0 \\ 0 & 1 & 0 \\ 0 & 0 & 1 \end{bmatrix} = \underline{I}, \quad \text{so } B = A^{-1}$$

REMARK IT IS ACTUALLY SUFFICIENT TO CHECK ONE OF THESE TWO CONDITIONS; IF EITHER $AB = I$ OR $BA = I$, THEN $B = A^{-1}$.

45) $A = \begin{bmatrix} -1 & 1 \\ 2 & 3 \end{bmatrix}$ so $A^{-1} = \frac{1}{-5} \begin{bmatrix} 3 & -1 \\ -2 & -1 \end{bmatrix} = \begin{bmatrix} -3/5 & 1/5 \\ 2/5 & 1/5 \end{bmatrix}$

46) $B = \begin{bmatrix} 2 & -2 \\ 3 & 2 \end{bmatrix}$ so $B^{-1} = \frac{1}{10} \begin{bmatrix} 2 & 2 \\ -3 & 2 \end{bmatrix} = \begin{bmatrix} 1/5 & 1/5 \\ -3/10 & 1/5 \end{bmatrix}$

REMARK we can check the answers to #45 and #46 by checking that $AA^{-1} = I$ and $BB^{-1} = I$.

51) $A = \begin{bmatrix} -1 & 0 \\ 2 & -3 \end{bmatrix}$, $D = \begin{bmatrix} -2 \\ -5 \end{bmatrix}$

a) $AX = D$ gives $\begin{bmatrix} -1 & 0 & -2 \\ 2 & -3 & -5 \end{bmatrix} \xrightarrow[-R_1]{2R_1 + R_2} \begin{bmatrix} 1 & 0 & 2 \\ 0 & -3 & -9 \end{bmatrix} \xrightarrow{-\frac{1}{3}R_2} \begin{bmatrix} 1 & 0 & 2 \\ 0 & 1 & 3 \end{bmatrix}$ $\begin{matrix} x & y \\ \textcircled{1} & 0 & 2 \\ 0 & \textcircled{1} & 3 \end{matrix}$ $\begin{matrix} x_1 = 2 \\ x_2 = 3 \end{matrix}$
 so $X = \begin{bmatrix} 2 \\ 3 \end{bmatrix}$

b) since $A^{-1} = \frac{1}{3} \begin{bmatrix} -3 & 0 \\ -2 & -1 \end{bmatrix} = \begin{bmatrix} -1 & 0 \\ -2/3 & -1/3 \end{bmatrix}$,

$AX = D$ gives $X = A^{-1}D = \begin{bmatrix} -1 & 0 \\ -2/3 & -1/3 \end{bmatrix} \begin{bmatrix} -2 \\ -5 \end{bmatrix} = \begin{bmatrix} 2 \\ 3 \end{bmatrix}$

52) a) if $X = AX + D$, then $IX = AX + D \Rightarrow IX - AX = D$

so $(I - A)X = D$, if $I - A$ is invertible, then

$(I - A)^{-1} [(I - A)X] = (I - A)^{-1} D$ so $IX = (I - A)^{-1} D$ and $X = (I - A)^{-1} D$.

b) $A = \begin{bmatrix} 3 & 2 \\ 0 & -1 \end{bmatrix}$, $D = \begin{bmatrix} -2 \\ 2 \end{bmatrix}$

$I - A = \begin{bmatrix} 1 & 0 \\ 0 & 1 \end{bmatrix} - \begin{bmatrix} 3 & 2 \\ 0 & -1 \end{bmatrix} = \begin{bmatrix} -2 & -2 \\ 0 & 2 \end{bmatrix}$,

so $(I - A)^{-1} = \frac{1}{-4} \begin{bmatrix} 2 & 2 \\ 0 & -2 \end{bmatrix} = \begin{bmatrix} -1/2 & -1/2 \\ 0 & 1/2 \end{bmatrix}$

and $X = (I - A)^{-1} D = \begin{bmatrix} -1/2 & -1/2 \\ 0 & 1/2 \end{bmatrix} \begin{bmatrix} -2 \\ 2 \end{bmatrix} = \begin{bmatrix} 0 \\ 1 \end{bmatrix}$